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LAW
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

guestions are compulsory.

Paper-111

: 5.  Match List ‘A’ with List ‘B’ and
L Who.among the follqwmg exp_resged select the correct answer using the
the view that the Indian Constitution codes given below :
is Federal as much as it establishes List — ‘A’ List — ‘B’
what may be called a dual polity ? a. Independence i. Administrative
(A) Dr. B.R. Ambedkar of the adjudication
(B) ~ Sir Ivor Jennings b \I]Euxdelgl:?lr\)//e ii. Parliamentar
(©) P_rof. K.C. Wheare Legislation form of 4
(D) SirB.N. Rau Government
2. In which of the following ¢. Quast - écpjpuotjgé?em
amendment the words ‘Nothing in function
Article 13 shall apply to any d. Collective iv. Ordinance
amendment made under Article 368’ responsibility
were inserted ? Codes :
(A) 22" Amendment a b c d
th (A) i i v i
(B) 24" Amendment (B) iii v i i
(C) 42" Amendment (C) i v i iii
(D) 44™ Amendment (D) iii i Qv i
3. The Supreme Court of India held in 6. Read Assertion (A) and Reason (R)
which of the following case that the and f'gdl correct answer using codes
yiews e_xpres_sed_ by i.t in exerc_ise_ of /%g/s?enrti?)r? W(A) : The Council of
its advisory jurisdiction are binding Ministers is the hub of the
on all courts within the territory of Parliamentary form of
India ? Government.
(A) In Re-Berubari case Reason (R) : The Government is
(B) In Re-Cauvery Water Disputes Co de;‘qrmed from the majority party.
Tribunal case ) ) (A) Both (A) and (R) are true but
(C) In Re-Kerala Education Bill (R) is not the correct
(D) In Re-Special Courts Bill explanation of (A).
(B) Both (A) and (R) are true and
4. In which one of the following case (R) is the correct explanation of
has the Supreme Court upheld the (A).
Constitutional ~ validity —of the (C) (A)istrue, (R) is false.
Constitution (93  Amendment) (D) (A)isfalse, but (R) is true.
Introducing Article 15(5) ? 7. The jurisdiction of the Supreme
(A) TMA Pai Foundation Vs. State Court of India may be enlarged by
of Karnataka (A) The President of India
(B) Indra Sawhney Vs. Union of (B) The President of India in
; consultation with the Prime
India Minister and Chief Justice of
(C) M. Nagaraj Vs. Union of India India
(D) Ashok Kumar Thakur Vs. (C) The Parliament by resolution
Union of India (D) The Parliament by law.

D-58-13



g - 11

fafa

AT ; T T T UEENR (75) Sg-fosheid U § | Ul U 6 g1 (2) 3 € | Wt e e €

1.

7 & 9 T et € T wRa o1 e
3T Bl T & ST 6 9 gareas
o= TS AT & el ST & 2
(A) T &R, TEEHT

(B) W 3MEaR ST

(C) Wi & daY

(D) W T T

= o o fog gomes & 3R 9% VR
Sig T ¥ o T 13 T =T &
TEd ST 368 | o T TEed W
N & & 2

(A) SETET e

G EEIREIENICE]

(C) wamAEar Geias

(D) TETCgar GmEA

STgay e F e § 9 e 9 |

Iz ufquiiea fowan o6 ST g1 wRmeie

SAYPR T STAN A gC Gd ™

foaR TR "9 § wnua @ =

W STEAHR & ?

(A) 3 S%arT 1 A

(B) = . &t St foamg feeger &t
T

(C) = R ¥eT Ty fofeT =1 Aetn

(D) = R weiiget =mmer & foeT &
HHAT

= O 9 59 9% 5 STuaq I9Eed |
Hiau™ & 939 TN ol Hawnf-es S
*H gie ® TS TR 15(5) ®f
iwfera fomar = & 2

(A) ATHAT, IE FESIE FHH FAEH

OS2
(B) 3T HIeHTl 99T 9Re ©H
(C) UH. RS s AR 9o
(D) 39Tk HHAR FK T WRA I
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5.

T A T G B § g R

3R < 5 T F2 H T ¥ e

WW:
Th - A T=h - ‘B’

a. EUMASRI B i TRIEEE
= IEIEES

b. AU ii. dEEE oA
IECIRES oAt

C. TN I jii. ~ATATHIRH

frafert

d. 9Hfesw s v, TR
*HT:

a b Cc d
(A) i i v i
(B) i iv i i
©) i iv i il
(D) iii i iv i

AFeE ‘A’ 3R HRUT ‘R’ Ulgd SR

el Dl HER W el IR _od

AfWHY (A) : TR T qOTelt |
A Hfeg g ¢ |

HROT(R)  :9gad arell Uel TR

T TS HIA § |

C T

(A) (A) 3R (R) 31 W@l € ife (R),

(A) T TET TILHIOT TET & |

(B) (A) ¥R (R) sHi Wl € 3R (R),
(A) T TE LT T |

(C) (AW g, (R)Tom e |

(D) (A)Te@ e, (R) Wl & |

IRA & STIdH FEd T &SR

fereh T STl T HehelT & 2

(A) 9R % AT & FRT

(B) WM HAl 3R YR o T AT
TR Yok AR o T §RT

(C) THE & Gohed T

(D) ¥HS i faty & R

Paper-I11



10.

What are exceptions to the rule of

natural justice ? Answer using codes

given below :

I. Exclusion by
provisions.

ii.  Exclusion
provision.

iii.  Exclusion in case of legislative
act.

iv.  Exclusion in public interest.

Codes :

(A) Only iiscorrect.

(B) Only iand ii are correct.

(C) Only i, ii and iii are correct.

(D) All of above are correct.

statutory

by Constitutional

Read Assertion (A) and Reason (R)
and find correct answer using codes
given below :

Assertion (A) : In India the order
passed in violation of the
principles of natural justice is
void.

Reason (R) : In India there is void in
the area of principles of justice
by nature.

Codes :

(A) (A) and (R) are true and (R) is
correct explanation of (A).

(B) (A) and (R) are true, but (R) is
not correct explanation of (A).

(C) (A)istrue and (R) is false.

(D) (A) is false and (R) is true.

In which of the following conditions,
the abuse of discretionary power is
inferred ?

I. Use for improper purpose

ii.  Malafide
iii.  Relevant consideration
iv. Leaving out irrelevant

consideration
Answer using codes given below :
Codes :
(A) Only iis correct.
(B) Onlyiand iiare correct.
(C) Only i, ii and iii are correct.
(D) All of above are correct.
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11.

12.

13.

14.

15.

Read Assertion (A) and Reason (R)
and find correct answer using codes

given below :

Assertion (A) : Equality is antithetic
to arbitrariness.

Reason (R) : Article 14 of the Indian
Constitution prevents arbitrary
discretion being vested in the
executive.

Codes :

(A) Both (A) and (R) are true and
gR)) is correct explanation of
A).

(B) Both (A) and (R) are true, but (R)
IS not correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

The writ of habeas corpus will be
issued if

(A) Detention is legal.

(B) Detention is prima facie legal.
(C) Detention is prima facie illegal.
(D) Detention is primarily illegal.

Reading Assertion (A) and Reason

(R), select correct answer using

codes given below :

Assertion (A) Lokpal is the
demand of time.

Reason (R) : Lokpal is a time saving
institution.

Codes :

(A) Both (A) and (R) are true, and
(R) is correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

“Administrative Law is the law
concerning the powers and procedures
of administrative agencies, including
especially the law governing judicial
review of administrative action.” This
definition of Administrative Law is

given by :
(A) IvorJenning (B) Garner
(C) K.C.Davis (D) Wade

In which of the following grounds, a

writ of certiorari may be issued ?

(A) Error of jurisdiction

(B) Error apparent on face of
record

(C) Violation of natural justice

(D) All of the above
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10.

i =F & TGgid & F1 3T9ag & 2
Fl D T8 W IW I | FHe A9 53
™E |

i,  fafues oemEr grr e

ii. G MEEET gRT oS

iii.  Torme & gR Ao

iv. off® fed § a5

&<

(A) TaFiT&e |

(B) fa®iaiwii@ére |

(C) Ta®i, ii 3T iii @€ |

(D) SWiek T W€ |

M (A) 3R HRUT (d@h) (R) &
ufed 3R T 52 T Fi B AGE W Tell
I AT
ANWHY (A) : IR T WIFas =T &
st &% foeg ik oRw ¥
AT |
FHRUT(R)  9Rd H UPd & =T &
TogTat & & § @refiuT & |
FT !
(A) (A) ¥R (R) 31 @l € 3R (R),
(A) =l &l AT |
(B) (A) @R (R) 3 Wl € W (R),
(A) =l T& =T T E |
(C) (A) W g 3R (R) Toid ¢ |
(D) (A)Tord & 3 (R) W&l & |

= 4 @ frg wd O foewfusr &t
SR & SEUAN I STHE oWl ST
o1 & 2

i oFfad wENE % o

i. T

iii. @ ufawer

iv.  STIET UTdheT i STe BIEhT
fefefad Fei o 7es @ S N
C I

(A) TaFiT&e |

(B) fa®iaiwii@ére |

(C) TaFi, ii afiTiii @& e |

(D) SWie T W€ |
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11.

12.

13.

14.

15.

Fo (A) IR T (R) i ufea dor 53

T % I T d Gel TR ST

e (A) %:wm?n T %

|

& (R) JHTWT 14 YRAE

Gagm & mEEEr feEae S
FrTeTeRT T FéId & o 7T B § |

T

(A) (A) 3R (R) sHi W@l € 3R (R),
(A) T TET TEHT T |

(B) (A)aﬁT(R)@'"ﬁW%W(R)
(A) T T TR TGl & |

(C) (A) %l & W (R) W&l &l ¢ |

(D) (A) W&l =& &, W= (R) W& € |

I FCTETHIOT 1okl el ST b ST & 2
(A) TR T@ @) @t |

(B) TRy wuw geean ay &t |

(C) TR vy geean 3/ &l |

(D) vR™Y ¥ e /@y et |

FoH (A) X dF (R) i ufgw qor <3

T % Dl Fedd H el S T

FUAT(A)  AHIA AT FHT B
ST (HI) € |

% (R) : TNIhUTel U 9o
et T ¥ |

T

(A) (A) aﬁT(R)ﬁaﬁ%,aﬁr(R)
(A) FT Tel TILTHT T |

(B) (A) ¥R (R) i Wl € = (R)
(A) 1 TEl TIEHT T & |

(C) (A)wl & W (R) W&l &l ¢ |

(D) (A) W&l =& &, W= (R) W& € |

VA qAr USRS WEAR W
URTTETeh S o ~IT1deh eI et
fafa & 1 = “uemater fafu” = afemn
frafafaa 5 @ fFaa i g 2

(A) SERSFT  (B) TR

(C) *# Fm (D) 3T

fAfefad & & 5 TRl W 3SoT
TRt ST i ST Tehell & 2

(A)  3TTaeRIRar =t Jfe

(B) 3ier@ H 3HF SEH ¥ & uehe I
(C) VThice = il IeeTeH

(D) ST Tt
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16.

17.

18.

19.

20.

Who propounded the Doctrine of
‘Moral Reasoning’ ?

(A) Kohler
(C) H.L.A. Hart

(B) Pound
(D) Kant

Which of the following avoid any
dogmatic formulation and
concentrate on the decisions given by
law courts ?

(A) Realist school

(B) Analytical school

(C) Philosophical school

(D) Sociological school

‘Jus civile’, “Jus gentium’ and ‘Jus
naturale’ are found in

(A) American Law

(B) Greek Law

(C) Roman Law

(D) French Law

Match the following :

a. Ancient i. Grotius,
theories Hobbes &
Locke
b. Modern ii. Thomas
theories Acquinas
c. Renaissance iii. Stamler &
theories Kohler
d. Medieval iv. Socrates,
theories Avristotle and
Plato
Codes :
a b Cc d
(A) i v i i
(B) i ii i v
C) ii i iv i
(D) iv i i i

“Law is without doubt a remedy for
greater evil, yet it brings with it evils
of its own.” Who said it ?

(A) Blackstone (B) Friedman
(C) Salmond (D) Hobbes

Paper-111

21.

22.

23.

According to Salmond, every right

involves a three fold relation.

l. It is a right against some person
Or persons.

Il. It is a right to some act or
omission of such person or
persons.

. It is a right over or to
something to which that act or
omission relates.

Codes :
(A) land Il are false.
(B) I, 1l and Il are true.

(C) Il and Il are false.
(D) Only Iis true.

Assertion (A) : Srutis and Smritis
form the greatest treasure
house of Hinduism.

Reason (R) : Srutis and Smritis are
considered immemorial,
timeless and eternal.

Examine the above statement (A) and

Reason (R) and select whether the

reason is a correct explanation of the

assertion, using the codes given
below :

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Personality is a very vague and wide
term and it has a variety of meanings.
It is derived from the word persona
which is a

(A) Latin word
(B) French word
(C) German word
(D) Greek word

D-58-13



16.

17.

18.

19.

20.

e T & fasTa @i e wfautea
e 2

(A) e (B) dSUE

(C) waTau ge (D) &<

= 4 9 =1 Ggraeas e
(dogmatic formulation) @1 UReSH
FAT & SR A & HoE W
i HIAT § 2

(A)  FeeER foramErT

(B) TomeiyuTeHe faamerT

(C) T foamemT

(D) EHIT [TaRERT

T II% ThEH U S § 9
(A) omRwA oty (B) ik fafa
(C) Ww=fafs (D) I= fafa

Tt =t gaferd i

a. e i, T, g 3N
s §lED

b. emygH®E i, 9HY TN
s

C. TSRO
g
d. TEe v, g, IR e
lisEAAEs| e
FT

a b c d
(A i v i i
B) i Qi i v
C) i i v i
O) iv Qi i i

iii. YU g Hhige

“faf fomr forell vk & erUeTRa wEl
RE H IUAR & & off T e o
@ H At W A & 17 IE e
T 2

(A) =HEEH
(C) wwUg

(B) higEA
(D) @i=a
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21.

22.

23.

HHUE % 3TAR & SR | i TR

T e it &

l. 9% 5 AR e Alal &
faeg PR & |

Il. 3% 39 AR e=a Aleadl &
FS FE YA AT F FEEd
ARFR T |

. 7€ 33 & SN I T a5 oad
T HE AT AT g € B
MYPR & |

ETE

(A) 13RI IH 7o € |

(B) I I3RIMTTE |

(C) Il 3R I 3H Tt & |

(D) FA&ITE T |

atfiramer (A) ;i td Wfd B &
9 92 TS © |
W(aéa)(R) gfq wd Wia # afa

YT, HIATAIT Tal 3M¥erd 9T SIem
T

SR FF (A) 3R (R) HT GLieTor

FIS 3T A 77 T FeI H mEg

Tg gy foF 1 HROT () AR

T TEl T § 2

T

(A) (A) 3R (R) 3FT Wl & wifer (R)
(A) I TE A T E |

(B) (A) 3R (R) 3HI @&l € 3R (R)
(A) Tl TE AT FATE |

(C) (A) W&l gl (R) Tord ¢ |

(D) (A) o & wfe (R) W& & |

‘S’ W% IS & 3T TS AT &

AR TH F= o Hhed € | T TR
TEHT (persona) 3% ¥ IFT & ST UH
T

(A) WA=
(B) % W
(C) < v
(D) i I=%
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24,

25.

26.

Fill in the blank with appropriate
offence :

Extortion is , when it is
committed under fear of instant hurt.
(A) Theft

(B) Attempt to murder
(C) Robbery
(D) Wrongful restraint

Fill in the blank with suitable
statement :
Z dies in possession of gold ring, gold
chain and a gold wrist watch during
the course of an accident. A, before
anyone entitled to such possession,
dishonestly misappropriates the same
causing :
(A) An aggravated form of
misappropriation as per Section
404 of IPC.
(B) A type of possession by some
process as per Section 405 of

IPC.

(C) No offence because the
property in question was
entrusted to A before the death
of Z.

(D) No offence because the
property in question was

possessed by some casualty.

Fill in the blank with correct

proposition of law :

The malicious injury to property as

per maxim Sic Utre tuo ut allenum

non leadas (to use your own property

S0 as not to injure your neighbour’s

property as provided in

(A) Damage of property as per
Section 427 IPC.

(B) Mischief as per Section 425
IPC.

(C) Mischief to cause wrongful
restraint as per Section 440
IPC.

(D) Destruction of landmark as per
Section 433 IPC.

Paper-111

27.

28.

29.

Read Assertion | and Reason Il and

with the help of codes given below

write the appropriate answer :

. Assertion
The distinctive feature between
preparation and attempt must
be based on.

Il. Reason
Preparation consists in devising
means necessary for the
commission of offence while
attempt is the direct movement
towords commission.

Codes :

(A) Both I and Il are true but Il is
not correct explanation of 1.

(B) Both I and Il are true while 11 is
the correct explanation of I.

(C) listrue, but Il is false.

(D) 1l is true, but I is only a stage
of crime.

The accused caused bodily pain,

disease or infirmity. But it is

cognizable, bailable or

compoundable. What offence, if any,

has been committed by the accused ?

(A) Voluntary causing grievous
hurt as per Section 322 IPC.

(B) Voluntary causing serious hurt
as per Section 325 IPC.

(C) Voluntary causing grievous
hurt by dangerous weapon as
per Section 324 IPC.

(D) Voluntary causing grievous
hurt by dangerous weapon as
per Section 326 IPC.

An individual’s act of abridgement of
another’s right to movement could be
an offence of :

(A) wrongful confinement as per
Section 340 IPC.

(B) an act of abridgement of right
to movement was done in good
faith and hence no offence.

(C) the movement route being
diverted so assault results.

(D) wrongful restraint as per
Section 329 IPC.

D-58-13
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25.

26.

SUGERT Y FRT ek T 9iE |
ECRE &, 3R Ig dchiel die
T ST T HAT AT & |

(A) == (B) &l = W
(C) & (D) TR Ry

ST U FRT o W A9 |

Z &l THSAT & SR gog & et & | 39
YT 39% U UH G S, T H
=TT T | Bl oS gel O | Tl
TEe o 3 T SRl W STHel SqHR
TG AT {ES ST A 3 SEAET 9
At FAT T | A T TR A F

(A) YRAE 3Ug HiEar o ORI 404
ST AT & e e |

(B) YRdAT IUS Hied H &RT 405 &
=T Tl UThaT §RT ool i
T [He |

(C) ¥ ®E IRy T&l & s I8
g 7 & gg ¥ Teet A & G
T ot |

(D) I TR T&l FAieh Tt o
3T U g€ of |

T fafy faum @ e @ =« gfa

HIFTT

gi Sic Utre tuo ut allenum non

leadas (3T TWE TU@ W TW UBR

HIE B 7 &) Fufd i foguger e

Tg UTad A g mn e |

(A) WZH H GRT 427 F IER
Gurd &l THaH

(B) WNEH. o 4RI 425 % 3TER Rt

(C) WiEH & &R 440 & STER
TUT TRy e RS

(D) W H gRT 433 F SER
e s fomeT

D-58-13

27.

28.

29.

ATFIT - [ R T - 11 H 9T AR
T I T FS w WerIAr ¥ T
I feAfEy |

I e
TR SR UF & s fafere o
ﬁﬁmﬁ?@ﬁwaﬂuﬁﬁﬁﬁaﬁm
II. :
T IR A | IMHA JaR 39

T WY HH & [T ST
g, S ®E A B AN Il
I & |

%

(A) 1 3R I SH Tl & AR 11, 1
&l AT T8

(B) 1 3 Il IHT Wl €, STalfsh 11, 1
TE A E |

(C) 19& & AfehA 11 i & |

(D) I W& & Wik [ TR ol heled
WOTE |

e 3 RIS dier, SR ereran

IR geletaT T 31Oy o & | Afep

g G3F, STHECE I IEAE WY & |

el fom e 3, afs #g &

WY femar € 2

(A) YRAT IUE Hiedl P &RT 322 &
I T ¥ HIR =X SUerd |

(B) Wmﬁﬁmﬁwns &
I ST H HIRA TR STl |

(C) ﬂﬂ?ﬁﬂmaﬁmﬁw3z4%
\‘H'('I‘ld LTI ?}l [EREGIET %i:‘ﬂ?:l{
ERT I =X STl |

(D) ﬂﬂ?ﬁamaﬁmﬁ%m’u%%
\‘H'('I‘ld LTI ?}l [EGEGIE? %i:‘ﬂ?:l{

ERT I =X STl |

TH A FRT fRE W a &

TAtaTy & 3R T Seoie BT HT

JTORTY Ht AT T 3 & 2

(A) YRAE 3ue Hear H aRT 340 &
IS ‘TR UGS T WY

(B) i Tda & AEHR A
SooiE HEWeT § fRar T &
TEIT g TR &1 & |

(C) ifer iffafr =6t feem S5l < @
£ TQIIT I8 et 1 3TWY & |

(D) YRAT IUE Hiedl P &RT 329 &

ST ‘TR ST Y STRY & |
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30.

31.

32.

Match the statement that mens rea is

a loose term of elastic significance

with that of the meaning in sequential

order.

(@) Foresight of the consequences
of the act.

(b) Criminal intention of deepest
dye.

(c) Anact which is visible.

(d) It depends upon knowledge and
belief.

Matching probabilities :

(A) It is the bare capacity to know
in the sequence of (a), (b), (c)

and (d).
(B) It is essential ingredient of
criminal  offence in  the

sequence of (d), (c), (b) and (a).
(C) It is a presumption to fix
criminal  liability in  the
sequence of (c), (b), (a) and (d).
(D) Applicability of the principle
becomes essential by the
sequence of (b), (a), (d) and (c).

Read Assertion | and Reason Il and
with the help of codes given below
point out the correct explanation.

I.  Assertion
Generally a master is not
criminally liable merely
because his servant has
committed a negligent act.

Il.  Reason
In  ordinary  course  of

employment a master may be
criminally liable against the
negligent acts of the servant.
Codes :
(A) Both I and Il are true, but Il is
not the correct explanation of 1.
(B) I is true and Il is the genuine

reason of I.

(C) Ilis true, but I is not absolutely
correct.

(D) 1l is false, but I is only an
assertion.

On which date & place the Earth
Summit was held at ?

(A) 6" June 1997 at Geneva.

(B) 20" June 1997 at London.

(C) 21% June 1992 at Rio.

(D) 27" June 1992 at Rio.

Paper-111
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33.

34.

35.

36.

“In case of violation of Article 21 by

disturbing the environment, the court

could award damages not only for the

restoration of the ecological balance

but also for the victim who have

suffered due to that disturbance.”

In which case the Supreme Court of

India has made above observations ?

(A) M.C. Mehta Vs. Union of
India, AIR 1997 SC 734

(B) M.C. Mehta Vs. Kamal Nath,
(1997) 1 SCC 388

(C) M.C. Mehta Vs. Kamal Nath
AIR 2000 SC 1997

(D) M.C. Mehta Vs. Kamal Nath
2000 (2) SCALE 654

In which of the following case the

constitutionality,  legal  validity,

propriety and fairness of the

settlement of the claims of the

victims in a mass tort action relating

to Bhopal Gas Leak Disaster has

been challenged in Supreme Court of

India ?

(A) Union Carbide Corp. Vs. Union
of India, AIR 1990 SC 273

(B) M.C. Mehta Vs. Union of
India, AIR 1987 SC 1086

(C) Union Carbide Corp. Vs. Union
of India, AIR 1992 SC 248

(D) Charanlal Sahu Vs. Union of
India, AIR 1990 SC 1480

Under which Article of the
Constitution Environment
(Protection) Act, 1986 was enacted ?

(A) Article 253 (B) Article 258
(C) Article255 (D) Article 254

The problem of the pollution of river
Ganga by the inaction of the
municipalities was brought to light in
which of the following case ?

(A) Indian Council for Enviro-
Legal Action Vs. Union of
India, AIR 1996 SC 1446

(B) A.P. Pollution Control Board
Vs. M.V. Nayudu, AIR 1999
SC 812

(C) S. Jagannath Vs. Union of
India, AIR 1997 SC 811

(D) M.C. Mehta Vs. Union of
India, AIR 1988 SC 1115
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30. 3@ FUF H GAGd DT {6 ST 3

31.

32.

TR Hewdl ol SieTl VIs5 &, Toaehr o1

FHIAHA U &

(8) T % URUTH FH gATIH

(b) e T T BRI foag

(c) T FHT S @R |

(d) ¥EFH R fovarg W R e |

GHT HWTSHT

(A) = (a), (b), (c) R (d) F A A
T T e bt el &7l & |

(B) (d), (¢), (b) 3R (a) % A H
gifeeh AUy 1 AT T E |

(C) (). (b), (a) X (d) F %A ¥
TF Mg HeRa A
TR & |

(D) (b), (a), (d) AR (c) *F FH TN
fergid = TaaT STaT & S
g1

AMNYHAT - [ T HROT - 11 H Uieq 3T
T T Fe H e ¥ 2w ARAT
g T |
I At
AMAR W FH  HHER &
AR 9 R s & fou @
T TR IMaed el € |

HIRT ;

M FHIRI B o w fafy

H fF3 T ATREE & HE & o

et AR € |

ETE

(A) 1 3R 11 I Fel & oifeh 10, 1
TE AT T |

(B) 1 W& € 3R I, 1 N aRdfes
HROTE |

(C) Il W& & wfehT 1 UTeran el &l € |

(D) 11 TTord & ATk 1 O 31 & |

gealt ¥ e R o 7 SR et gen
o

(A) B S 1997 SHaT H

(B) M SH 1997 A=A |

(C) TpIT S 1992 d= |

(D) T S 1992 = |

I
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33.

34.

35.

36.

“UERUT T A L GouE &
T 21 1 Sooigd (AT STAT &
e A Tt aRfed fosm & gafmioT
% o BT BT TSV T Wehall & Sleh 39
TSI o HROT 39 Nifed i df &
3 N AR T Gl & Y 7@ HROT
THAH T3 & |7 IR & Ieaaq e
J SHerT oot v A | &t & 2
(A) THE. Hedl TH YR U,
T.3TE. 3R, 1997 TH.GY.734

(B) T©HE. T AT,
(1997)1 TE.HI. 4. 388
(C) ©qd. WHedl M HHAA,

T.37E.37R. 2000 TH.HT, 1997
(D) THE. Hedl S HECH, 2000
(2) THeT 654

et 719 offeh AT & AHe § Seaaq

=TTer T R a1 § Al e &

A o Uifedl % Il o ag wAH h

GAYTehdT, Se=ehar, Sfaqar Te =d-

AT <l AT 3T T 2

(A) IFET FRAES HRURTH FHH TR
T, TIME. 3R, 1990 THET, 273

(B) WL Wedl THM WRA U,
T.37E.3T], 1987 TH.AT. 1086

(C) IHEH FRAES HRUNTH FAH WR
T, T3ME. 31, 1992 THAT, 248

(D) U 9E oFH 9Rd Y,
T.37E.3TR], 1990 TH.HT, 1480

IRAT Gaue & fF9 S & ded
TEROT (TRI0T) S, 1986 A

[ERIRIRI

(A) 3= 253 (B) =T 258
(C) =T 255 (D) =% 254
ﬁm%bﬁﬁﬁﬁﬁaawﬁmaﬁ

T TFHHOFAT % HROT T 3T & TFH0T

aﬁwwwwﬁmwv

(A) TSI FEEA B TETI-ANTA
TRM a9W YR 9°, T3,
1996 TE.HI. 1446

(B) TH. UIRH Hgiel SIE ST
WA, Y, TIAEAR. 1999
T 812

(C) TH. =g o ¥Rd ¥,
T3S 3T, 1997 THH. 811

(D) Tmd. T ¥R,
T3TE.3R. 1988 THA. 1115
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37.

38.

39.

d. Obijective of the iv.

Which one of the following cases

relates to Sariska Tiger Park ?

(A) Tarun Bharat Sangh Vs. Union
of India, AIR 1992 SC 514

(B) Consumer  Education and
Research Society Vs. Union of
India, AIR 2000 SC 975

(C) Pradeep Krishen Vs. Union of
India, AIR 1997 SC 2040

(D) Animal and Environmental
Legal Defence Fund case, AIR
1997 SC 1070

Which of the following case relates
to transfer of Tribal lands by
Government to Non-tribal people ?
(A) Shri Manchegowda Vs. State of
Karnataka, AIR 1984 SC 1151
(B) Samatha Vs. State of Andhra
Pradesh, AIR 1997 SC 3297
(C) Suresh Lohiya Vs. State of
Maharashtra, (1996) 10 SCC
397
(D) Fatesang Gimba Vasava Vs.
State of Gujarat, AIR 1987

Guj. 09
Match List — I with List — Il and
select the correct answer :
List— 1| List - 11
a. Suspension of i. Article5
Members
b. Veto power ii. Article 6
c. Appointment of iii. Article 27

Secretary-General
Article 76
Trusteeship System

V. Article 97

Codes :

a b Cc d
(A) i ii i v
(B) i i v v
C) i i v iv
(D) i i v i

Paper-111
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40.

41.

42.

43.

Which of the following Jurist regard
the controversy “whether
international law is a law, a dispute
about words and not things” ?

(A) Lawrence (B) Austin

(C) Hobbes (D) Hart

What should be the order of the use of

material source of International law ?

1.  Treaties and Conventions.

2.  Customs

3. General principles of law
recognised by civilised States.

4 Judicial decisions and juristic
opinion as subsidiary means for
the determination of law.

(A) 4,3,2,1 (B) 231,4

C) 42,1,3 (D) 1,2,3,4

Which of the Article of the Statute of
International Court of Justice makes
it clear that the decision of the court
will have no binding force except
between the parties and in respect of
that particular case only ?

(A) Article 60

(B) Article 59

(C) Article 68

(D) Article 38(1)

Which of the following functions are
performed by Economic and Social
Council ?

1. It may make or initiate studies

with  respect to international
economic, social, cultural,
educational, health and related
matters.

2. It may make recommendations
for the purpose of promoting
respect for and observance of
human rights.

3. It may make recommendations to
promote friendly relations and
understanding amongst member
States.

4. It may prepare draft conventions
for submission to the General
Assembly on any of the subjects
falling within its competence.

Select the correct answer using the

codes given below :

Codes :

(A 1,2,3,4 B) 1,34

C) 1,24 (D) 2,3,4
D-58-13



37.

38.

39.

= oSt 4 9 % 91 9g GiEh 9"

UTh W grEd € 2

(A) TEU AR FF SEH 9RA T,
T3TE. 3R, 1992 TAH. 514

(B) IR TIHYH Ue frgd g
T R TE, TSAE.AT. 2000
TgHnL 975

(C) W& P TEW uRA U,
T3ME. 3R, 1997 TE.E. 2040

(D) THHA Ud UACREETA T
fehg & HH, TIM.AT. 1997
TgHL 1070

=7 § ¥ i |1 91 THR FRT S

I STH TS o ST ol STl

Y gy € 2

(A) st AETMEl IH FARE T,
T3TE.3T, 1984 T 1151

(B) THWel SHM MY TR I,
T.3TE. 3R, 1997 TH.HT, 3297

(C) T Mg I 1 HeRTE 7,
(1996) 10 THHT . 397

(D) WG AT SEEr S TSR
T, T3ME.3R. 1987 TS, 09

T - | g - || % e gHferd ST
aﬁraﬁwgﬁﬁ

=it - | =t - 1
@ & e i 4RTS
Teenterepre ii. "6
Herafaa & g i, &R 27
I FIRT & I iv. 4RI 76

v. X197

o0 o

(A) i Qi i v
B) i Qi v v
©) i Qi v v
) iii i v i
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40.

41.

42.

43.

frefafea & 4 s @1 faferet 9
dfoarg ¥ wrEfud € o w® s
fafy arda o fafa &, t w5t 1 foag

1 T g3t 1 foarg 2
(A) wR= (B) 3=
(C) == (D) &

ﬁmﬁif@ﬁﬁaﬁﬁ@ﬁ%rﬁl%@ﬁaﬁ

ST % T @ 9 aeeE |

et 7 A |

TG |

T T FRT AT A

faty fagia |

4, e MR Y fatemet @ T
ST WETge 3T % d) W fatg o
™ |

(A) 4,3,2,1 (B) 2,314

(C) 4213 (D) 1.2.3.4

IR =Mk AT Wray i e

gRT § e & T =mared & ot

e % Tel & a1 39 (9T g

3TN g GERT I i aTeT el & 2

(A) R 60 (B) RT59

(C) w68 (D) T 38(1)

Ao wd gmifse 9ReE % g
frfafad & @ &9 ¥ sE @& fHae
fopam e & 2
1. agaaﬁ@aanﬁsﬁwﬁsﬁ
Y, @R a@
T faudt & SR |/ arggT A
3T & B Gohelt € |
2. I8 AFE AYSRI H WA BT
TAT TR FHE FET WG
WeaTed & & [T FawmeT ¢
T & |
3. UE 95 USAl W OSMUEl WEERT
e fosrarot feeat @t Jg & o
fqmIeT T Tt & |

[\)»—A

w

T {53 T Pl P TN Fh Sk I
T |

%

(A) 1,2,3,4 (B) 1,34
C) 1,2 4 (D) 2,3,4
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44,

45.

46.

Match List — | with List — Il and
select the correct answer :
List -1 List—11
a. The Covenanton i. 16" Dec.
Civil and 1966
Political Rights
b. The Declaration ii.
on Human Rights
c. Convention on iii.
the Rights of
Child
d. American iv.
Convention on
Human Rights
Codes :
a b Cc d
i
i

1948

1990

1969

(A) iv i i
(B) i i v
©) i Qi i v
() iv i i i

Assertion (A) : International law is
not a law.

Reason (R) : It lacks determinate
superior political authority to
enforce its rules.

Using the codes given below give the

correct answer.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

The junior widow has adopted a child
without the consent of senior widow.
Decide the adoption.

(A) Valid

(B) Void

(C) Voidable

(D) None of the above

Paper-111
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47.

48.

49.

50.

In which State, where a widow may
adopt a child without an express
authority from her husband, before
the HA & M Act, 1956 ?

(A) Bibharand M.P.

(B) U.P.and Haryana

(C) Madras and Bombay

(D) Orissa and Andhra Pradesh

In ancient Hindu Marriage, which
one is not approved form of Marriage ?
(A) Brahma (B) Davia
(C) Prajapatya (D) Asura

Read Assertion (A) and Reason (R)
and with the help of codes given
below select the correct explanation.
Assertion (A) : The Muslim Women
(Protection of Divorce Rights)
Act, 1986 brought changes like
limit the period of maintenance
to Muslim divorcee till “iddat’

period and in case of no
relatives the liability on Wakf
Boards.

Reason (R) : The changes were
brought  under Muslim’s
pressure.

Codes :

(A) Both (A) and (R) are true and (R)
is correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
is not correct explanation of (A).

(C) (A) is correct, but (R) is false.

(D) (A) is false, but (R) is true.

Read Assertion (A) and Reason (R)

and with the help of codes given

below select the correct explanation.

Assertion (A) : The Dissolution of
Muslim Marriages Act, 1939
brought different grounds for
dissolution of marriage and
based on Maliki schools.

Reason (R) : The DMM Act, 1939 is
brought on the opinion of
Ulema (Ijma).

Codes :

(A) (A) and (R) are true, (R) is
correct explanation of (A).

(B) (A) and (R) are true, but (R) is
not correct explanation of (A).

(C) (A) is correct, but (R) is false.

(D) (A)is false, but (R) is true.

D-58-13



44, gt - | S g - || % 9T gAfed s

aﬁ?aﬁmwaﬁfﬁﬁ
= - | =t - 11
a. SIaF e ToHtaes i 16 Gy
SAIBR TETERT 1966
b. A USRI B ii. 1948
ST
c. o=l & BRI H iii. 1990
AT
d. O9d AUFRT T iv. 1969
AN T
FHT
a b Cc d
(A iv Qi i i
B) Qi Qi v i
€) i i i v
O) iv Qi i i
45, afw;w(A):awﬁgﬁzr%ﬁq%rﬁaqﬁ
|
HROT(R) 39 fafy o et & @]
;‘{ﬁ%ﬁ@ﬁ%wﬁﬁquﬁ
|
frfefad i &1 JAT Hd ¢ Srad
I I |
E
(A) sFi(A) 3R (R) ¥ € &R (R),
(A) i &l AT E |
(B) =H (A) 3R (R) ¥d & wifeh
(R), (A) Tt W&t =T =& € |
(C) (A) Wl & 9f (R) Tora € |
(D) (A) Terd € ifeh (R) W&l & |
46. S Tayer o1 AR fawer = 7sl d
U ST i S UBUT il & | S
T H T
(A) &
(B) ==
©) =RTio)
(D) T | HIE T
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471.

48.

49.

50.

for T~ o U fawen s i 1 FeAta
% TA TEUT HAA! € &g e AR TL-
T MATEH, 1956 (H A and M Act,
1956) | B
(A) TR ud ug .
(B) . ud gRamm
(C) T Ud T
(D) SSIET Ud 3Ty W=
e &g faare o =1 5 %9 9 e
TS & 2

(B) <feam

(A) =&
(C) vt (D) ¥

H (A) 3R HROT (R) T 9feT o1
3T B0 P TeEdr ¥ Hel TEIROT
H IS T
AT (A)

: giem ol (faare-fawms

WW)W 1986
ﬁgﬁ@m el B e
AR HT TAIR T& & A TE
e Ik SIS T EAT |

HRT (R) W%a—mﬁa@
e ol T &

%

(A) (A) T (R) T W § a (R),
(A) F1 T TILFT & |

(B) (A)W(R)ﬂﬁfﬂﬁ%ﬁﬁ(m
(A) T el TISHIT el &

(C) (A) T g, W(R)W%I

(D) (A) T &, o= (R) W&T € |

F (A) 3 HROT (R) =i UfeT a1 g

fRT P & e A TEl TLEHOT H

fAfe wifste

FUT(A) g Toae-foee
aqﬁﬁ?m 1939 ¥ fere % fafory
Wm%a%wwaﬂuﬁﬁ%|

& (R) cSruATE. fafg 1939
i |o|gg| (@5 & T W

|

C YA

(A) (A) w (R) 5HI &8l & @ (R),
(A) T TET WL & |

(B) (A)w(R)ﬁﬂﬁ%ﬁﬁ(R)
(A) T TE T

(C) (A)@%W(R)wab

(D) (A) 7era &, g (R) W&l & |
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ol.

52.

53.

A Muslim husband has failed to have
‘sexual intercourse’ continuously for
four months with wife. It could be a
form of divorce and is called

(A) llla (B) Mubarrah
(C) Zihar (D) Khula
Match List — I with List — Il and
select correct answer from the codes :
List— 1| List— 11
a. Judicial i. Section9
separation
b. Divorce ii. Section
10
c. Voidable iii. Section
Marriages 13
d. Restitution of iv. Section
Conjugal Rights 12
Codes :
a b Cc d
(A) i i iv
(B) ii iv i
C) i i iv i
(D) ii i iv i
Match List — I with List — Il and
select correct answer from the codes :
List -1 List—11
a. Impotency of i. Divorce
Husband
b. Marriage within ii. Voidable
Sapinda Marriage
Relationship
c. Pre-marriage iii. Nullity of
Pregnancy Marriage
d. Option of Puberty iv. Void
Marriage
Codes :
a b c d
(A) iv i i i
(B) i iv i i
C) i i iv i
(D) ii iv i iii
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54,

55.

56.

S7.

58.

59.

The Human Rights has been

classified into three categories, viz

(@ The Human Rights of first
generation

(b) The Human Rights of Second
generation and

(¢) The Human Rights of third
generation, by

(A) Louis B. Sohan

(B) Theodoor C. Bowen

(C) R.Dworkin

(D) Bernard Mayo

“Everyone has the right to
recognition everywhere as a person
before the law”. This has been stated
in which of the following Article of

Universal Declaration of Human
Rights ?

(A) Article6 (B) Article7
(C) Article8 (D) Article 9
The United Nations High
Commission for Refugees was

established in which of the following
year by the General Assembly ?

(A) 1951 (B) 1953
(C) 1955 (D) 1957
“The most glaring instance of

violation of Human Rights is the
continuing poverty among masses in
the country.” Said by

(A) Justice A.S. Anand

(B) Justice N. Venkatachalaiah

(C) Justice P.N. Bhagwati

(D) Justice Koka Subba Rao

Match List — | with List — Il and
select the correct answer :
List -1 List - 11
a. The Magna Carta i. 1628
b. The Petition of ii. 1789
Rights
c. The English Bill of iii. 1215
Rights
d. The U.N. Bill of iv. 1689
Rights
Codes :
a b c d
(A) diii iv i
(B) i i iv i
(C) i i iv i
(D) i i ii iv

Gurupadaswamy Committee 1979
was constituted to look into the
working conditions of :

(A) Minorities (B) Women
(C) Children (D) N.G.Os.
D-58-13



51. o™ ufd oW Ut ¥ IR UE A%
AR @ifTeh B T8l X & | ol
T T THR FEAT
(A) zem (B) HaNE
(C) fmw (D) @em
52. gEr- | H gEr - 1 § gafer St qen
FHE A TAN A T Wl SR H 94
FHIT
=i - | =it - 11
a. TS UUERIOT j. €RT9
b. foaw fo=sT ii. oW 10
Cc. YUY faaE i, €T 13
d. IO SRl A jv. ©RT 12
TAETOAT
%
a b C d
(A i i i v
B) i v i i
€ i Qi v i
O) i i v i
53. gEr- | g - | § gAfea Hife qor
FE H TAN A T Wl IR H 9T
HIT
= - | =t - 11
a. O & Y8k AT Q. dqoH
b. @fyg gey o ii. IO
foere foere
c. foame & wear iii, apaa
et foare
d. deaRy fader v, ¥ foaw
(3T 31T Teel)
%
a b c d
(A iv Qi i
B) Qi v Qi i
C) i i iv i
O) i v i i
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54,

55.

56.

S57.

58.

59.

THENTYeR] bt = i Ao 5 foaes
g fanfera femar man & 2
(a) v\ Uigt & " ATHR,

(b) iyt Tt % AT SR,
(c) TarE it & aHa AP

(A) =9 FBT
(B) ISR . SeH
(C) 3R, gaifeh
(D) sRATS =AT

‘& AT HI I8 NUFR & o6 & e
fatr & wmer 39 =l ot A= e
HAFETYHR S0 9 % [ =T |
T U € ?

(A) #g=T6  (B) W7

(C) 3F=T 8 (D) =T 9

el 5101 1 5 ¥ 6 a9 | wged
T IROMAAT & ford STarnT bt ST
EIRIE

(A) 1951 (B) 1953

(C) 1955 (D) 1957
“HHE AR & Seoia 1 qad THR
IETET0T 931 | 3 S | R 5 @I
T & 17 e Tohe et 2

(A) =TT TUE, AET

(B) —ATATHYT UH. SheTeoeiaE

(C) =amadier 9.uA. swrert

(D) TATEITT HihT GRS

AT - | & gl - || F GAfd S 3T

TE W g

gﬂ—l =t - 1
a. i 1628
b. URRM o WEH i, 1789
c. eI foel S WEew i, 1215
d. FuA. foeT 3f® WeT  iv. 1689

a b c d

(A di i v

B) i Qi v i

C) Qi i v i

O) i i i v
TEURETHl FHS 1979 N TS et
1 T & 3o & fo T 2
(A) suE=s  (B) Hfeen

(C) i (@=a) (D) TUASH.3W.
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60.

61.

62.

Using codes, arrange following

instruments according to sequence of

their enactment starting from past

towards present :

(i) The Convention on the
Political Rights of Women.

(i) The Declaration on the

elimination of discrimination

against women.

The Convention on consent to

marriage, minimum age for

marriage and registration of

marriage.

(iv) The Convention on the
nationality of married women.

Codes :

(iii)

(A) i v i i

(B) iv i i i

C) i i i iv

(D) ii i iv i

Which one of the following

statements is not correct ?

(A) In tort, there is a breach of duty
which is primarily fixed by law.

(B) In tort, there is a violation of a
right in rem.

(C) In tort, the motive for breach of
duty is immaterial.

(D) In tort, the damages are fixed
according to the terms and
conditions.

Assertion (A) : A wooden chair
while being used by a guest
caused injury to him due to
defective manufacture. The
guest is entitled to claim
damages from the maker.

Reason (R) : Manufacturer owes a
duty of care to the ultimate
user.

Select the correct answer using the

codes below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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63.

64.

65.

In which of the following situations

is slander actionable per se in India ?

(A) An imputation that a certain
female player is of unchaste
character.

(B) An imputation that a certain
person is a habitual smuggler.

(C) An imputation that a certain

person is liar.

(D) An imputation that the wrestler
IS womanizer.

Match List — I with List — Il and

indicate the correct answer using the
codes given below :

List—1 List— 11

a. Apatient i. Vasantha P. Nair
isa Vs. Smt. V.P.
consumer Nair

b. Doctor’s ii. K. Rangaswami
duty to Vs. Jaya Vital &
maintain others
secrecy

c. Free iii. Indian Medical
service Association Vs.

V.P. Shantha

d. Contract iv. Dr.  Tokugha
of Vs. Apollo
personal Hospital
service Enterprises Ltd.

Codes :
a b c d

(A) i i i v

(B) iv il i iii

C) i iv i i

(D) i i i iv

State in which of the following cases,

it amounts to nuisance ?

(A) Planting of trees on another’s
land.

(B) When branches of trees project
on the land of their neighbour.

(C) Construction of a pond on the
land of another.

(D) All of the above
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60. el T TN Fd U H=TArEd foradi

61.

62.

# fUgd 999 °§ Y& A gC 3N &

T T SAMFEEd H HHSTIER

iglice

(i) T FAwA 3T I uifeIfeswar
e A

3w

(i) T Terlem ofF q TelH=wH
3T BRI eTi=e gad

(iii) & FAIA FAF Fo<T T AR,
{STERTH A% HITS

(iv) T FoE 3 AvHicrR! 3fE
TS oA

T

(A i v i

(B) iv i Qi i

©) iii Qi i v

O i i v i

TAfeRad oAt 5 9 i o1 Tet T8 € 2

(A) P § T€ HaeT AT & &, S
TRV w0 9 fafy grr feiRa
T mar g |

(B) 3UFHT W ToEHl AER
oo |

(C) =P § &aed o7 & I
Hewaol el § |

(D) 3UF= H THaed AR I &
STAR &1feqafa Freifea &t STt € |

ANH (A) : T AT FRT et
'f!)’)HNl bl SYINT pid HHT IHh
fafqator et g o HRT HAfafy
H A T S 7 | A
fafmtar & etfagfa s g & &
THERE |

FROT(R)  : fafmiar & oe &daex &
T T 3ifom wareT %1 e @

I fgu MU Fe ¥ W IW H® WA

FHIT -

ETE

(A) (A) 3T (R) I @& E 3R (R)
(A) T TE AT E |

(B) (A) 3R (R) I Tel &, Wik (R)
(A) i Tel =T T T |

(C) (A) Wl &, &fh (R) Tt & |

(D) (A) Terd &, 9ifh (R) W& € |
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63.

64.

65.

fAfefga fefaar 5 9 &9 9 9va 9
3T TR ST F9 3TN § 9

(A) UH AT Tk HE  Higen
fgerer sierveer s = €

(B) U® oTARMU T HE Al
MG T T |

(C) U gRIIUT foh IS AT 2l & |

(D) T FHANUU fF & TR
TR & |

Tt - | g - 1§ gAferd it 3T

= T U Het W weEar ¥ W s

ERIELS
= - | = - 1

a. WMTH i I9d O TR AW
TEH & | et St =R

b. T ST ji. %, TIREEN SAH
T s faed s8R
BT H I
Ll

c. 3w il e gl
T LRl IR

RG]

d. s v, S JFE a\ W
el 2101 4 p et
HferaT TETATESIS o,

%

a b c d

(A i i i v

B) iv i i i

©) i iv i i

() i i i v

A T Fefefad & 9 5 qepsmt o

Jg T § 2

(A) TH H gH W I AT

(B) @ UT W IMET 3ITH TSI Hf
iy o STt o

(C) T & Y\ W drea H1 FHaor
FHET |

(D) 7= ot
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66.

67.

68.

In which of the following cases, the
rule of absolute liability laid down by
the Supreme Court of India was
followed ?

(A) Indian Council for Enviro-
Legal Action Vs. Union of
India, A.1.LR. 1996 SC 1446

(B) Klaus Mittelbachert Vs. East
India Hotels Ltd., A.l.LR. 1997
Del.201

(C) Both (A) and (B) above.

(D) None of the above.

Match List — I with List — Il and
indicate the correct answer using the
codes given below :

List— 1 List— 11
a. TheWagon i. Remote but
Mound case proximate
b. Re Polemis ii. The test of
and Furness reasonable
Withy & Co. foresight
Ltd.
c. Scott Vs. iii. The test of
Shepherd directness
d. Fardon Vs. iv. Reasonable
Harcourt foreseeability
Rivington
Codes :
a b c d
(A) i i i v
(B) ii i iv
C) i iv i i
(D) ii i iv il

Find right answer from following
statements :

(A) Every partnership is based on
mutual agency.

(B) Every agency is based on
mutual partnership.

(C) Every agent is a partner.

(D) Every partner is a sleeping
partner.
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69.

70.

71.

Which statements are correct, answer
using codes given below :
i. Directors are trustees of

company.

ii. Directors are mentors of
company.

iii. Directors are agents of
company.

iv. Director are agents of

shareholders.
Codes :
(A) iandiiare correct.
(B) iandiii are correct.
(C) iandiv are correct.
(D) iiandiv are correct.

Read Assertion (A) and Reason (R)

and with help of codes given below,

point out the correct explanation :

Assertion (A) : The doctrine of
indoor management seeks to
protect the company against the
outsider.

Reason (R) : The company has right
to privacy.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match items in table A with items in
table B, using codes given below :

Table A Table B
a. Essentials of i. Section 41
partnership
b. Partnership at will ii. Section 4
c. Effect of non- iii. Section 7
registration of firm
d. Compulsory iv. Section 69
dissolution of firm
Codes :
a b Cc d
(A) i i iv i
(B) ii i v
(C) i v i
(D) i i i v
D-58-13



66.

67.

68.

frfafed & 9 69 gFed o 9Rd &

ITIaY A gRT iR sTetae

Tfee & = =1 g foham w0

(A) eaT FREEA B aTI-emTer
TRM a9W YR 9°, T3,
1996 TE.HI. 1446

(B) T MHezoaad a M T el
gieed Tl WaTE 3R, 1997 fSoett
201

(C) SWgw (A) & (B)
(D) S H | B T |

Tt - | 6 g - 11 % | gAfed Sifse
3R A U MU Fi H T A g
T IR AT -

b. T wfafg woes
Y foet wue &,
fe1, T TRET0T

C. i T UFe

d. ®EH I He

Rferme
HE

a b c d
(A) i ii i v
(B) ii i iv
C) i iv i i
(D) ii i iv i

=1 ol O 9 e ST ST |

(A) T YRR URERE SIHT 0T
MR & |

(B) = WU URWRE AR W
MR & |

(C) & AMyshal AR ¢ |
(D) & WK g« 9RR & |
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69.

70.

71.

i W U Gl € | A K8 T %
Heg 9§ IO /I

i, Ry wETRE e

ii. TR AT % WERRET € |
iii. v T o efiyehdr & |
iv. R IRy & ST § |
&<

(A) (i) 3T (i) T %". |

(B) (i) 3R (iii) H%“r% |

(C) (i) #R (iv) W |

(D) (i) 3 (iv) W& |

Mg (A) 3T HRT (@) (R) &l

Ul 3R i f§F T %t Bl AGE W Tal

AT i AT i

AfuHUT (A) : TARE  TEEE A
fagid Ho & S @ 9
TR0 FATE |

FHROT (@F) (R) : FHO
AP E |

ETE

(A) (A) 3R (R) 9T T & 3R (R)
(A) =l &l AT |

(B) (A) 3R (R) I Wl &, Wik (R)
(A) i TE AT TRl |

(C) (A) Wl &, &I (R) Toid & |

(D) (A) e &, Wi (R) el & |

fotar &t

29 (A) B TEI H Tt (B) H TR F

=1 T2t =t 7eT @ gHlea Hie
T (A) ot (B)

a. TR & TRYA i, URT 41

b. T=TH OFIRK i, €RT4

c. TH HUSIHOTT i, ¥R 7
FE & g

d. &9 & e iv. GRT 69
forgea

FeE !
a b c d

(A i i v il

(B) ii i v i

€) i v i i

(D) i Qi i v

Paper-111



72. Find correct answer, using codes

given below :

(i) Bulk shall correspond with
sample, is an  implied
condition.

(i)  Buyer shall have a reasonable
opportunity of comparing bulk
with sample, is an implied
condition.

(iii) Goods should be free from any
defect rendering them
unmerchantable, is an implied
condition.

(iv) There is an implied condition
that the buyer shall have and
enjoy possession of the goods.

Codes :

(A) (i) only is correct.

(B) (i) and (ii) only are correct.

(C) (i), (i) and (iii) only are
correct.

(D) All of above are correct.

73. Choose correct statement from
following :

(A) Right against the goods can be
exercised only by a paid seller.

(B) Right against the goods can be
exercised only by an unpaid
seller.

(C) Right against the goods can be
exercised only by a paid buyer.

(D) Right against the goods can be

Paper-111
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74.

75.

Match items in Table A with items in
Table B, using codes given below :

Table A Table B
a. Prabhu Dayal Vs. i. Section
Jwala Bank, ILR 100
1938 All. 634
b. Discharge from ii. Section
liability by 10
cancellation
c. Paymentindue iii. Forgery
course of
signature
d. Protest iv. Section
82
Codes :
a b C d
(A) i i i iv
(B) i iv i i
(C) iv i i i
(D) ii i i v

Find correct legal principle from
following statements :

(A)

(B)

(©)

(D)

While collecting a cheque for a
banker, the customer is under
an obligation to present it
promptly so as to avoid any
loss due to change of
circumstances.

While collecting a cheque for a
customer, the banker is under
an obligation to present it
properly so as to avoid any loss
due to change of
circumstances.

While collecting a cheque for a
customer, the banker is under
no obligation to present it
properly so as to avoid any loss
due to change of
circumstances.

While collecting a cheque for a
banker, the customer is under
no obligation to present it
promptly so as to avoid any
loss due to change of
circumstances.
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72. ¥ 5@ T $e # AES ¥ el SW
I
i.  OREOT FEH % IEEW ', U
g o & |
ii. WigeR & uREOr ® g 9
QA e hl Srtld S %ﬁTﬂ,

T T T ® |

i, o%qE 3T Al e | go e S

I AU ST €, T ffed
IAE |

Ig ot s fHfed oId § {6 @lRer
TXI3T T T FhaTl & T 37 FHool
T STAIT T FehaTT & |

o (i) @& e |

HaeT (i) 3 (ii) e & |
et (i), (i) 3 (iii) TEI & |
ST T W € |

73. T U 9 9@ w5 g9

(A)

(B)

(©)

(D)
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AT & fo%s SR hael =
o gom foshar & SwEM W
THAT T |

AT & oo SR hael JaH
&t fopar gam foshar & STFT WY
THAT & |

AT & foes TR haet Jra=
foram gaTm shel &1 STANT T Hehal
T

AT & foes MR haet Jra=
T T gem e & ST W
THATE |

74. 29 (A) H TR H 2T (B) H TR

75.
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=1 Fei =t 7eT @ gRlea Hie
T (A) ot (B)
a. WY AT S i, ERT100
ST Sk
SE.UA. 3TN, 1938
TAL 634
b. WERUI A G i, €RT 10
T AT
C. JAAHT AT i, STl Bl
LT
d. eT=mia iv. 9T 82
FHT
a b c d
(A i i i v
(B) i v i i
©) iv i Qi i
O) ii i i v
=1 e | Wl fates fosid o 9ared

(A)

(B)

(©)

(D)

SR & [ A T A 9T
ek IMacae= & & a8 39
IRt & Seie & HROT &l ®
THAE H T EH A H /el 39
T TR T |

UTesh o (o180 o Uhd Hid THd
dR T & T ae Sd
IRt & Sgene % HRT & @
THEAE H T BH o H Tl 39
TE ST Y AT BT |

UTesh o [o18 oeh Uhd Hid THd
JH Ty @ ¢ fF 9% 5@
IRt & Seie & HROT &l ®
THAE H T B A H T/l 39
TE ST W UET BT |

THT o T T TS B T
e M= T2l ¢ o o8 34
IRfeafat & 98eTe & HRO 8 @
THEH H T BH o F Tl W
TAIT T |
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